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Review — Ch. 1 thru 2.5

™HIS FIRST PART IS WITHOUT THE USE OFA CALCULATOR!!

Perform the following operations.

-25
1) =547 2) =310 3 7
4) -7+6 5) =5(~8) 6) 2-(-9)
7) 4(-7-3) 8) 2[ -5 - (-12)) 9) ~x+8 forx=-9
*From this point on, calculators are again allowed,
Evaluate each expression for x = 5, y=-3andz=1
10) 8y +xz 11) x* -3y 12} z(y + %)

Simplify. Combine all like terms.

13) 34x+15-13x+%x-9 14) 6(3x+1)-12 13) 7(x~-3)+4x





[image: image2.png]Solve the following inequalities and graph its solution on a number line.

31) 5x>35

34) —6x>66

37)

13x =26

40) 13<x—-4

Write the inequality that the number line represents.

32) x-36

35) 4=x+7

38) -2x+5>19

41) 75 >6

X
33) ? <4

36) 6x+2<44

39) 3(x-2)=15

42) x+5=z-7
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Pre-Algebra Name
Test(b) — Ch.1 through 2.5

" #+NO CALCULATORS ARE ALLOWED ON THIS SECTION!!! When completedi )
turn it in and you will get the rest of the test.

Perform the following operations. Circle your answers.

) -12-6 ' 2) 13-(-5)
34
3) 9+3 9 "o
(
5) ~7(-6) 6) 5(-2-3)

7 -5-(=3) 8) 9-x forx=-2
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**YOU MAY USE YOUR CALCULATOR F

OR THE REST OF THE TEST. Quietly get
our calculator out and get started,

Evaluate each expression for x = 3,5 =-5 and z =4. Must show work. Circle your answers.

1) l4x+yz 2) y(z+x)

Simplify. Combine all like terms. Must show work. Circle your answers.

3) 15%x—16—4x+2+x 4) 5@x+3)-7x

5 l =0 6 12 3

)5 = ) x—12= -
7 104= -8x 8 3x-5=31
9 5x-x=52

10) 4(2x-3)=28




[image: image5.png]! 18) A box of doughnuts cost $2.95. Write an al

want to purchase x amount of boxes, Use
boxes of doughnuis.

gebraic expression to represent finding the cost if you
your expression to find how much it would cost o by 9

nte and solvu an cquaﬁon to ﬁnd the number of mawazmas m,
J ared sold.

20) After his payment, Mr, Weber's credit card balance was $245.75. His payment was for $75. 00. Write
and solve an equation to find the amount of his-credit card biil.

?TNUS - Write the Inequality that represents:

X is at most 35
{





